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1. HEFEONSFER (REHEEH Sfe646 H28H)
(HEAZ - 1)
IH H & K Bl =R
A Y A o ©) 519, 876, 941 8%
2 NBF) @ 513 | FEFLFL
Z D ©) 9,987, 553
(NER)  E» 5 0BhRk 3,121,183 | AR#BL
FITAF AR 6, 866, 368 10%
i R s BTN =wa 2 | FEREEL
il (D+@+3) 529, 865, 007
3H 2 | REERE @ 77, 372, 097
(NFR) R F 1,039,410 | FEFREFL
TREBE -« AH BB 42, 397, 603 10%
TR L ERA 3, 147, 242 10%
ERRE SRR 4, 365, 363 10%
ZOfth i - REEICR DR E 1,357, 056 10%
R FECE 14, 487, 215 10%
R INCE - 12, 191 8%
NI ¢ 17, 500 10%
O AERE - i - B ICR D R 31, 748 8%
oM AFE - A - RTEEIC AR D AR 131, 257 10%
R s SRR 4, 536 8%
WLPERHEARE i A 302, 014 10%
W R s SRR 72,304 | AERBL
EAZBSEH 1, 552 8%
EaZESEH 69, 928 10%
e P VR AL oed 53R AR EE R L H 43 4,085,850 | FEFRML
SR EFEE AA 5,105,286 | R
Z Dl 744, 042 10%
JA | A AR - I &#2511%) ® 94, 075, 727 8%
AR LA VA (RS, 9. 11HEIA) ® 262, 187, 654 8%
W e 1 @ 82, 610, 029
(NFR)  EEWRAE FEE (LR FARE) 3, 350, 393 10%
Jek PEW IR A T 08} 247 10%
LA (BERFARE) 34, 048, 750 10%
J AFECE 36, 596, 305 10%
A P i a8 A X R 8,614, 334 10%
i (B) (@D+B+O+D) 516, 245, 507

(A) — (B) mH&HHESE

13,619, 500
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2. WRFEFEE

(HAZ - kg - M)
N4 HR 7 8 R e 45
TuffFra X 4, 530, 780 334, 803, 023
HLW2 & 2,236, 940 183,194, 712
F o A4 X3 3, 180 212, 726
x5 L3< 38, 850 1, 666, 480
&5 6, 809, 750 519, 876, 941
3. ®WBIOMEFEE (i)
('ON) (Bpr 2 [H/t)
B4, vahT xabhk | H < LW2E | FraT 4R X5 L9<
155 155 155 155
HR7efifs (2 )
D 68,422  75,829| 61, 940 39, 718
IR 7E AT 2 AL (8%)
) 5, 474 6, 066 4,955 3,177
T NEH (FERRBL)
©) 0.08 0.08 0.08 0.08
[ D> 5 D Bk
@ 458 458 458 458
Z DM (HTAF k)
® 917 917 917 917
Z DMIHEFRL (8%)
® 92 92 92 92
B IA 4%
D=D+2+@+@+B+®| 75,362| 83,362 68,362 44, 362
(D)
TR 4>
® 23,000 27,000] 20, 000 22, 000
POREE (SR D)
©) 39,000/  43,000| 35, 000 9, 000
OREHE (E )
0 0 0 0
froeid s (Ji)
a 11,362 11,362 11,362 11, 362
R I [R] AKE B D %
) 2, 000 2, 000 2, 000 2, 000
IA~DIEREEE
1) =0®+9+10+1) 64,000 72,000 57,000 33, 000
60ke /{FEHA A 3, 840 4, 320 3, 420 1,650 (50kg/f#)
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4. BWBIOKEEE (JA)
(HAZ - /%)
A4, voht xabk | H < LW2E | FraT 4R 35 L7<
155 145 145 1%
(AT
D 9, 000 9, 000 9, 000 10, 000
R E R A4
® 30,360]  33,360| 28,360 8, 360
Breiedy (J A)
® 12,131 12,131 12,131 12, 131
56 BRI E (5, 000) (5, 000) (5, 000) (5, 000)
R
@ 0 0 0 0
A PEAE T HUAR
B =D+@+@ 39,360]  42,360| 37,360 18, 360
60ke /{FEHLE 2, 362 2, 542 2, 242 918 (50kg /)




